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Question 1 (25p) 

 

The European integration has lead to lower trade costs between its members. At the 

same time this implies that countries outside EU are disfavoured in the European 

market. Analyse the effects of this type of preferential tariff liberalisation. What are 

the welfare consequences? How are the welfare effects affected by a very elastic 

import demand? 

 

Question 2 (25p) 

 

Analyse the effects of economic integration in a model with two sectors: X and Y. 

The X-sector is characterized by increasing returns to scale, free entry, and Cournot 

competition. The Y-sector has constant returns to scale and perfect competition. 

Utility of the representative consumer is given by 

   U=(nX)
α
Y

1-α 

,and the cost function of X-sector firms is 

   C=f+cX, 

where all notation has its usual meaning. 

 

Question 3 (25p) 

 

a) Show formally the gains from trade in a standard model of monopolistic 

competition (the Dixit-Stiglitz model). 

b) What are the effects of economic integration if it is assumed that firms are 

heterogeneous in productivity, and that there are fixed entry costs in the 

domestic and the foreign market? (the Melitz model) 

 

Question 4 (25p) 

 

a) Compare the effects on the domestic economy of a shock to the foreign 

interest rate when the exchange rate is fixed and when the exchange rate is 

flexible. 

b) What is the impossible trinity? 

c) Under what condition is a speculator likely to be able to break a fixed currency 

peg of two currencies, when both countries defend the peg? 


